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1. Решите уравнения:
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2. Решите неравенства:
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3. Решите системы уравнений:
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15. JlorapudiMuseckve ypasHeHs U HepasecTsa
Pemure ypassesa (171—175).
a) logl x =4 -3 log, x; 5)%1.(2:-1)
8) logy Vx—5 +logy V2z-3=1;
1 3lgE-1)-10lg@x-1)+3=0.
a) 2 log, (Ig %) = log; (10 - 9 Ig x);
6) 1g (3 +x-17)=x1g30 - x;
®) 2lg(gx) =lg(3-2lgx)
D x-xlg5=lg @ +x-9)

4 og
@) logy x4 b =5

1gVz-9

6) logy x +log ; x~log, x
H

B) 210g 5 x+log, § 1) log 5 x+4log, x+logy x=16.

) £ l=g; 6) 2M%5%=1262%;
B) ¥ =10 000; 1) xeaxd
a) 3 log} sin x + log, (1 - cos 2x) = 2;

6) log,, sin 2x + lgcos x=1g 7;

) log; 5777 = (x - 4) log; 5

) lg (8- 5%+ 24207 = x + 1g 18.

Pemmre nepasencrsa (176—179).

a) log, (<2 - x - 4)< 6) log 5_,(5-2x)> 2

B) g -x+8)> 15 (3-22) <2.

™) log ;

a) 2log, x < 2+ log, (x + 3);
6) log, (10~ x) +10g, (x~3) > - 1;
. i
8) log, (x~2)+log,(12-x) > -2;
3 g
©) logys (4 - x) > logy,; 2 — loggs (x = 1).
321

Q) g +x-6)-lg(x+3)<lg3; 6 log; 5 <13
B IG 8 -10) - -D> 4 1) logy S <1

a) log, (47~ 527 4.8) > 2;
B Igrrlgxs 2

6) logl; x+ 6 > 5 logys %3
1) log , (65 ~36%)> -2,
ki

BenmunTe
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19. CucTemb! nokasarenbHbix
W NOrapUEMUHECKUX YPaBHEHWiA

Pemmmre cucrenst ypasmemuii (191—196).

oo
o1, o [0 =70
3o
(V5)=~v =25,
®)
2x+8v =17,
) Ygrer_gs
. log 5 (y— %) =4,
3e+2. 3522171
3= 7v =63, 322 =77,
193. o
D Jgrrrrt; ) o =
o 1o 4= o [ -3
47-ar =63 25 3r=5.
lgx-lgy=1, log, (2 +y?) =5,
194, o
Y ety ) 21og, z+logs y=4;
= 1
o [Ex-ley=1, e e (e l“"[’“t]’
lgx+lgy=5 log,x-zlag,[w%]w.
105, o) [J1080E=% " e
. a)
2 =32 llog, (x2 - ) ~ logy (x ~ 1) = 05
» [log; x +3¥ =1, 5 51+ toss(x'-4") _ g5,
log (- y) = log; (x+1)-





